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O N Mg Al      2 2 3
8 11 12 13

(s) (aq) (aq) (s)SC FeSO SC (SO ) Fe  4 2 4 32 3 3 

(s) (aq) (aq) (s)Fe CuSO FeSO Cu  4 4 

(s) (aq)Ag CuSO 4

(Fe )2 

(Cu )2 Fe 2 

 Cu Ar d 2 9
29 3  SC Ar 3

21  Fe Ar d 2 6
26 3 

w

( )
r / pm


 
980 2 68 139 5

8
          cr / /  

68139 5 105 5
2

 w cr r / /   139 5 105 5 34 

c

( )
r pm


 
580 2 160 130

2
 wr  

640 160
4

 

w cr r pm   160 130 30 

 Al O C Al CO  2 3 22 3 4 3 

molAl O molAl gAl
?kgAl kgAl O / kg

gAl O molAl O molAl
      2 3

2 3
2 3 2 3

160 4 27 1003000 1003 9
100 102 2 1 95

 

/ kgAl 903 51
/

 
90
100 1003 9

 
 



 

molNH molN molNaN gNaN
?gNaN LNH / gr

/ LNH molNH molN molNaN
     3 2 3 3

3 3
3 3 2 3

1 1 2 6510 9 67
22 4 2 3 1

 

/
/ %

g
 

9 67 100 74 38
13

 

P O P O 4 2 4 105 

P O H O H PO 4 10 2 3 46 4

kgH PO kgH PO 3 4 3 4
10025 294
85

 

molH PO molP O
?kgP O kgH PO kgP O

gH PO molH PO molP O
    3 4 4 10

4 10 3 4 4 10
3 4 3 4 4 10

1 1 284294 213
98 4 1

 

molP O molP gP
?kgP kgP O / kgP

gP O molP O molP
     4 10 4 4

4 4 10 4
4 10 4 10 4

1 1 124 100213 97 89
284 1 1 95

  

/ / kg 
10097 89 108 76
90

 

(s) (s) (s) (l)Fe O Al Al O Fe  2 3 2 32 2 

molAl molFe gFe
?gFe gAl / gFe

gAl molAl molFe
     

95 1 2 56200 3940 75
100 27 2 1

mlHml ml
?ml gFe ml

gFe mlFe mlK
     2

2

190 1 2240030 10800
100 56 1 1

 Fe HCl FeCl H  2 22 

(s)Fe OH Fe(OH)  3
33 


